| can find pairs of numbers that sum to 100.

Example

+70

% Answer = 74

26 +[ |=100
A

Copy and complete.
@ s0+] ]=100
© 90+ |=100
€ 20+ =100
© 20+ |-100
©so+] |=100
@65+ |=100
@ 35+ |=100
© 75+ |=100
© 15+ |=100
@55+ =100

+4
-
26 30

Copy and complete.
€ 100-48=]]
@ 100 - 69 =] |
€ 10091 =[]
© 100-37=] |

€ 100 -84=[ |

00— ]=45
100 —[ |=128
@ 100-[ |=53

I can find a difference by counting up.

Examples
+3

it

+4

Answer = 7

87

A

Work out

@ 32-26
© 51 -47
€ 64-55

© 200-192

© 400 - 381
@ 103 -9

90

94

Work out

€ 6358

300 — 188
€ 74 - 66

@ 5000 — 4992
& 306 — 199
@ 705 - 495
6000 — 5983
) 2000 — 1942
© 3002 - 2970
@) 107 — 88

C

Copy and complete.

© [ |+ 760=1000
© [ |+ 340=1000
© [ |+230=1000
@[ |+e610=1000
© [ ]+480=1000
@ 970 +[ ]=1000
@ 520 +[ ]=1000
© 190 +[ |=1000
© 850 +] |=1000
@ 360+ ]=1000

+10
+4 +5
£ N N Answer = 19
186 190 200 205

C

Copy and complete.
@ 04— |-186
© 703 |-274
© o000 - [ |=3875
@ s12-[ |=197
© 915 -] |=498
© 6018 | |=3993
@ 9012 - |=4998
© 9000 - [ |=5693
© 7000 - |=3876

@ 3008 - |=1985



